T1124/T1044 COMPUTER ORGANIZATION AND ARCHIECTURE s .
Prias]st g

SE - Sem ¥ (CRsGs) compulis

[Time: Three Hours]

Please check whether you have got the right qt{estlb\n pape
Question no 1 is compulsory. e
Attempt any three questions from rernammg ﬁve qu- tion
Assume suitable data if required.
Draw neat diagram wherever necessary

N.B:

R B

Q.1 Solve any four out of five. 20
A. Explain Virtual Memory,
B. What is 10 buffering?
C. Write a note on scanner.
D. What is Segmentation? .
E. What 1s TLB?
Q.2 A.I) Draw the flow chart for Restore Dlv]smn Algqnth '_ S 04
06
B. Describe harq-g@re c.on,- h)mt and spemfy 1ts? advantages _ 10
Q3  A. Multiply (xﬁ}-and‘@) u.,mg Booth 5 A;go.lthm Nl S 10
B. A block set assomatwe cache eops1sts r;;f 64 bloeks clmded"m 4 block sets. The main memory - 10
contains’ 4096 blocks eac_l "-“i i
52) How man bits ar ‘_e there 111 cache memory address (tag, set, and word fields)?
24 A leferenmte between L. ‘RISC and C]SC processor, 10
S 5Qs § . D 10

e B—? how IEEE 754 etandarcfs_ for-Bmary Floating Point Representation for 32 bit single format and 64 10
10

10
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Examination Processes
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2. Comection in Program Code:T1124 Subject Name:COMPUTER
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Q.6 (B) Discuss the function of DMA
instead of Discuss the functions of 8089 1/O Processor

- Posted by tusharadmin on 2017-05-25 15:06.19
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Q.P code :544904
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Fig.2
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T1124/T1047 COMPUTER GRAPHICS

S E- Sem- TV Comp - (CBsGs) BHl 13le |17
Q.P. Code: 16435
Duration: 3 Hours Total Marks assigned: 80

N.B.: (1) Question No. 1 is compulsory.
(2) Attempt any three of remaining five questions.
(3) Assume any suitable data if necessary and justify the same.

[

(a)
(b)
(c)
(d)

(a)
(b)

(a)

(b)

(a)
(b)

(a)
(b)

Compare Raster and Random Scan Techniques [05]

What are the disadvantages of DDA algorithm? [05]

Derive the matrix for 2D rotation about an arbitrary point. [05]

Write a boundary fill procedure to fill 8-connected region. [05]
Ln e

Explain Bresenham’@drawing algorithm in detail. [10]

Derive the transformation matrix to magnify the triangle with vertices [10]
A(0,0), B(1,2),C(3,2) to twice its size so that the point C(3,2) remain fixed.

Explain Cohen-Sutherland clipping algorithm for line with suitable [10]
example.

Explain Weiler-Atherton algorithm for polygon clipping. What are the [10]
advantages over the other polygon clipping algorithm. Explain its working
with an example.

Define window, viewport and derive window to viewport transformation. [10]

Differentiate between parallel and perspective projection. Explain with the  [10]
help of examples.

Explain Back Surface Detection method in detail with an example. [10]
Discuss Halftoning and Dithering techniques. [10]
Write a short note on any two of the following . [20]

B-Spline curves.

3-D rotation,

Fractals. CQ L b

6%
68
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\ T1124/T1046 THEORETICAL COMPUTER SCIENCE FH } 15? (\g 7

SE(W) emp (B QP. Code 038/37

[Time: Three Hours] LIS _ [‘MarkSBUI

Please check whether you have got the right quest-\itjﬁc-pa-bmf;f RN

Question No. 1 is compulsory. Ko d
Attempt any three out of remaining ﬁvequestmns
Assumptions made should be clearly stated R T AR O
Figures to the right indicate full marks. = - P S RS 7 o 0 €
Assume suitable data whenever required but }ust]fy that;

N.B:

PRI b

Q.1  a) Differentiate between NFA and DFA
b) Explain Chomsky Hierarchy
c) Explain Rice's Theorem
d) Explain Pumping Lemma for CFG

a) Design FA to check divisibility by 3 to binary number. 10

;.2
- b) Using Pumping Lemma prove that follow_mg language is not _reg_ular: L={0m1ms1| 10
m>0} . RSO S :

__'\. =y

Q.3 a) Design Moore Mach‘ine to generaté output A 1f strmg is endmg w:th abb, B if string 10
ending with aba, and G’othermse aver al‘phabet (ab).And Convert it to Mealy
machine.

b) Simplify the gwen grammar S aAa/bBb/BB A—>CB-A/SC —S/e. 10

Q.4 a) Construct NFA for Gwen Regular expresslons 10
1) (a+b)ab,” = S -

}\ )‘ Kl » '-.\
o

i) abafafb];" =
iv) (ab{ba)*/(aa/bb) =
b}~ ConstructPDA accep’tmg-the Ianguage L= {aZ2bn | n>0}). 10

Q5 @) Des;‘gn m:mrgized{)_ f‘kﬁacceptmg strmgs ending with 100 over alphabet (0, E) 10
:_':-_;" b] Demg "Turmgmagﬁme’emrecagruzgw.ellformedness of parenthesis. 10

e

B CR

é'on nymfour) 20
SRS _a) GTElbaC]‘l Normal?o#m '
5 oF ~ - b)-Deterministic. PDA and' Mu}tlstack PDA
.~ o ¢) Varjants of Turmg Machme
o d) -Halting Problem -
: e)-- Church«Turmg-:Thesns

FOTBF8CF494AE2E18F297DC3428B15CC
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o)
St ce ___,,Q
Q.P.Code No. :09887

Q. 3b) Read as

Simplify the given grammar:
S->aAa/bBb/BB

A->C

B->A/S

C->S/e

Ser—~ Juv

i3G5



T1124/T1045 S.E.(COMPUTER ENGG)(SEM IV) (CBSGS) DATABASE MANAGEME@'L%@TBMS

‘ ‘ ,\5,5'
\[oal 1 q.,p.c aem‘s@a

Time: 3 Hours

B. : (1) Question Number 1 is compulsory

(2) Solve any three question from the remaining questlcm‘s
(3) Make suitable assumptions if needed |
1. (a) Construct an ER diagram for a hospital with a set.of paﬁen'tb and a:set of 10

medical doctors. Associated with each patlent a log of \anous tests and
examination conducted. : -

..\'

(b) Explain lossless join decomposmonand dependenCy preserving : e
decomposition T _ _ O 1 N

(c) List four significant differences between file processmg system and 5
database management system _ -

2. (a) Whatis a deadlock? How i§ 1t detectecl’? D1scuss different types of deadlock 10
prevention scheme. : ~

(b) Write SQL queries for the giVee .detabz:se; AR ey 10
Employee(eid,ename,street,city)
Works(eid cid s'alarv)
Company(cld cname,city)
(i) 3 Modlfy the database so that Jack now lives in 'Mumbai'
(i)  Give all employees of '"ANZ Corporation' a 10% raise in salary

(ii1) - Find all employee id who live in same cities as the company for
whleh they work

(i\?} GlVC total number of employees
(v)  Find the highest paid employee
S '(_a) ; Wh’a_t is an attribute? Explain different types of attributes with examples. 10

(b) 'ZCOmpames manufanture ranges of products which are purchased by 10
- customers The relatlon schema for this operation is given as :-

C_omp_a'n_y(_cO.lfﬂpany_code,company_name,d1rect0r#,direct0r_name, {product
name, cost, {cust#, customer_name, address}}) where { } represents a
repeating groups. and company_code, dirctor# and cust# contains unique
values. Normalize this relation to third normal form.

TURN OVER
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T1124/T1045 S E.(COMPUTER ENGG)(SEMIV) (CBSGS) DATABASE MAN

4. (a)
4 (b
5 (a)
(b)
6 (a)
(b)

Explain following relational algebra operations with examg S
(1) set intersection ;
(i) Generalized projection
(111) Natural Join

iv) Aggregation operator

Explain nested 100p join and block nes;giil"‘,"_
processing. S

Explain Timestamp ordering PrOtﬂC@laﬂdThomagw :

Describe the three level schemaaiqhitbct@;cgfﬂ% - 410

of dependencies 10 this arcmtegtgre O \\ \:f“k,’ X

Explain log based recovefy: '3 E K \ -’”_‘-':_.-:'w" hags 10
j 10

Explain Hash join algorithm in query ‘proeéﬂs'_i;lg‘

092EF8E! TTDD96EBE279CFD3CS’?F 1695



[Time: Three Hours]

N.B:

Q.1 is compulsory.

1,

Solve any three from Remaining

2.

Answer any four

Q.1

a)

L5

b)

vn_w\x\_\.f..m.v._w f

7 £ A.p.\.\,.o

<

Explain masters method with example |

c)

1 e

"

d) Write a note on flow shop scheduling

e

10

" 554

ight(wi

L

10

te-optimal binary search tree
roblem? Find LCS for following string X = ACB AED

10
10
10

),15,27) and (d: d; ds da) (2,1,2,1) find feasible solution.
,ﬁ'id minimum spanning tree for the following graph.
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b) Strassen’s matrix mu

Itiplica
N

ke

g,
00 %
G %S
e, P X g

A6770F26CF24EETTE6BI5S8C4EIFF174C

4
S

¢) Knuth Morris Pratt’s
d) Multi stage Graph
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gits were chosen at random from a table of random

digits was as follows.

6. (a) 300 di

Frequency |28 |29 [33[31] 26 | 354

71

o o
%) Aw&muo. 25, i 903200,
By B, i, % 20, O,
O8G0, 0, g QQQ

Z= 6){1-!-:=c2

Using 7(,2 -test examine the hypothesis that
2x, +%,>3

in the table.

(b) Use the dual simple method to solved
Minimise
Subject to

(©) (@)
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